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sbit stop=P2"1;

shit zz=P2"2;

shit fz=P2"\3;

shit up=P2~4;

shit down=P2"5;

shit set=pP2/6;

uchar count,speed, i,countl,k;

uint j;

bit zf;//

/* 1-2
DA */

uchar tab[]={0x01,0x03,0x02,0x06,0x04,0x0C,0x08,
0x09};

void main( )

{

A—AB—B—BC—C—CD—D—

P0=0X00;speed=3;zf=1; //
TMOD=0X01;// 0
TLO=(65536-1000)%256;
TH0=(65536-1000)/256;
EA=1;ET0=1;
/* 7 */
while()
{
if(start==0) TRO=1;//
if(stop==0){TR0O=0;P0=0X00;k=0;j=0;countl=0;
speed=3;}; // if(zz==0) zf=1; //

1 1ms

if(fz==0) zf=0; //
if(up==0) {if(speed!=1){speed--;};while
(up==0);};//
if(down==0){if(speed!=5){speed++;};while
(down==0);};//
if(set==0){k++;while(set==0);};//

}
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}
void timeO( ) interrupt 1

{
TLO=(65536-500)%256;
THO=(65536-500)/256;
count++;
if(count==speed)
{
count=0;
if(k!1=0) {j++;if(F==4096){j=0;countl++;};};//

if((k==0)] | (k'=count1))//

{
if(zh){i++;1f(i>7)i=0;P0=tab[i];}
else {i--;if(i==0xff)i=7;P0=tab[i];}
}
else if((k!'=0)&&(k==countl)) //

{TR0=0;k=0;j=0;countl1=0;P0=0X00; speed=3;};

}
}
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